

        Form A


Core Focus on Linear Equations
LE Block 2 Review ~ Sequences and Slope
Name__________________________________________      Period______      Date____________

Part I – Selected Response
1. What are the next two terms in the recursive sequence?

31, 23, 15, ____, ____

A.  7, 0

B.  8, 1

C.  7, −1

D.  17, 9

For numbers 2a – 2c, determine whether each statement is true or false[image: image19.png]


 based on the graph below.
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2a. The operation in the 
      recursive routine is 
      subtraction.
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2b. The start value is between 
      3 and 4.

2c. Following this recursive 
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      routine, the x-coordinate 
      of 5 would match with a 
      y-coordinate of −3.  

3.  Barry owns 14 baseball cards.  He buys 5 more cards each week to add to his collection.  What is the recursive routine that describes the number of cards Barry owns based on the number of weeks he has been purchasing cards?
A. Start Value: 14

     Operation: Add 5

B.  Start Value: 14

     Operation: Subtract 5

C.  Start Value: 0

     Operation: Subtract 5

D.  Start Value: 0

     Operation: Add 5

4.  Which of the following have a rate of 6 feet per second?  Circle all that apply.
A.  96 feet in 90 seconds
B.  24 feet in 4 seconds
C.  120 feet in 30 seconds
D.  21 feet in 3.5 seconds
E.  6 feet in 1 second
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5. What is the start value and rate of change for the table below?

A.  Start Value: 0

     Rate of Change: +1

B.  Start Value: 0

     Rate of Change: +6
C.  Start Value: 3
     Rate of Change: +9 

D.  Start Value: 3
     Rate of Change: +6
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6.  What is the missing value in the input-output table representing the equation 
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A.  −8
B.  −11
C.  −13
D.  −88
7.  Which linear equations below have a 

y-intercept of 2 and a rate of change equal 

to 1?  Circle all that apply.
A.  
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B.  
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C.  
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D.  
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E.  
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F.  
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8.  What is the linear equation that represents the values shown in the table below?


A.  
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B.  
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C.  
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For numbers 9a – 9c, determine whether each statement is true or false based on the graph below.
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9a. The y-intercept is 
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9b. The slope is negative.     
9c. The equation of the line   

       is 
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1

2

3

+

=

x

y

     

10.  What is the slope of the line through (2, 9) and (5, 3)?

A.  2

B.  
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C. 
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D.  −2

Core Focus on Linear Equations

LE Block 2 Review ~ Sequences and Slope
Name__________________________________________      Period______      Date____________

Part II – Constructed Response

Complete each sequence.  Identify the start value and operation that must be performed to arrive at the next term.

1.   4, 7, 10, _____, _____, _____

Start Value: _____
Operation: ________________
2.   19, ​_____​​​, 9, 4, _____, _____

Start Value: _____
Operation: ________________
3.   −0.5, 1, _____, 4, _____, _____

Start Value: _____
Operation: ________________
4.  What is the 10th number in the sequence shown in #1 above?  Use words and/or numbers to show 

     how you determined your answer.

  

5.  What is the start value and operation for the y-coordinates 
     shown on the linear plot at the right?


Start Value:  ______

Operation:    ____________________

6.  Sherrie buys a laptop computer for $600.  Each year, the value of her laptop decreases by $40.  


a. Write a recursive routine that describes the value of Sherrie’s laptop based on the number 

                of years she has owned it.



Start Value: _______

Operation: ________________



b. Fill in the input-output table with the 


    value of the laptop for the first four years.

c. How many years will it take before the laptop is not worth anything?  Explain how you 
    know your answer is correct.

Determine the rate of change and y-intercept (start value) for each table.  Write a linear equation that represents each table.


7.    



   

   
8.  



        

Rate of Change: _____   Start Value: _____
        Rate of Change: _____  Start Value: _____


Linear Equation: ____________

        Linear Equation: ____________

9.  What is the rate of change and the y-intercept for the equation 
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Rate of Change: ____

y-intercept: ____

10.  a. Complete the following input-output table for the equation 
[image: image18.wmf]5

2

1

+

=

x

y

.
       b. Explain how you would find the y-value paired with an x-value of 10.

Find the slope of each line.  Write in simplest form.


11.  




12.



    13.  

Slope: ______

 
          Slope: ______


Slope: ______

14.  What is the slope of the line that passes through (6, 1) and (8, 4)? 




15.  Hank found the slope of the line going through 
      (−2, 7) and (−1, 7) using the calculation at the right.
      Do you agree or disagree with his answer?  If you 
      disagree, correct his mistake and give the correct slope.

Core Focus on Linear Equations
LE Block 2 Review ~ Sequences and Slope
Name__________________________________________      Period______      Date____________

Part III – Problem Solving


Mr. Parson rented a golf cart.  The rental shop had a pricing chart posted 

on the wall (shown at right).  He was told there is a set fee to rent a golf 
cart plus a charge per hour.  What linear equation represents this pricing 
system for all whole numbers?
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Hank’s Work:


� EMBED Equation.3  ���





Hours, x�
Cost ($),


y�
�
1�
$13�
�
3�
$21�
�
4�
$25�
�
6�
$33�
�









©2014 SMC Curriculum

Core Focus on Linear Equations

_1276067688.unknown

_1276067866.unknown

_1416836147.unknown

_1416836362.unknown

_1420954959.unknown

_1416836162.unknown

_1276075782.unknown

_1276075841.unknown

_1276068254.unknown

_1276067717.unknown

_1276067726.unknown

_1276067852.unknown

_1276067702.unknown

_1276067472.unknown

_1276067482.unknown

_1276067418.unknown

_1276067464.unknown

_1276067352.unknown

